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B fr 7k & (W) AR L D W= 153 (kg/nf)
Efrt A & (C)
C=W = WC X 100 = 153 - 58.5 X 100 = 262 (kg/nf") C= 262 (kg/nt)
Ve =C ~pc= 262 + 3.04= 86(0/n) Vo= 86(0/uf)
A D SFE (/) M E L Y Yy = 665(Q/at)
BENTHE A1 B (G)
Vg = V XEFEE-- 100 = 665 X 60.5 -+ 100 = 402(Q/nf) Vg=  402(Q/nf)
Vgl = Vg X ( 40 +( 40 + 35+ 25))= 161(L/nf) Vgl= 161(LQ/nf)
Ve2 = Vg X ( 36 +( 40+ 35+ 26)= 141(02/xd) Vg2=  141(0Q/nt)
Vg3 = Vg — Vgl - Va2 = 100(Q/n) Vg3= 10000 /m)
Gl = Vgl X opgl = 161 X 2.62 = 422(kg/nt) Gi= 422 (kg/nf)
62 = Vg2 X pg2 = 141 X 2.62 = 369 (kg/n) 62= 369 {kg/nf)
G3 = Vg3 X pgd = 100 X 2.62 = 262(kg/u’) G3= 262 (kg/nf)
BEATHE 4 B (S)
Vs =)0 sB-( W+ Ve + Vg o +Vair)
= 1000 -( 1653+ 86 + 402 + 45 )= 314(0/nf) Vs=  314(9Q /nf)
S=Vs Xps= 314 X 2.58=810(kg/nt") § = 810 (kg/m")
A (s/a)
s/a= Vs+ (VetVg) X100 = 314 +( 314 + 402) X100 = 43.9(% s/a=  43.9(%)
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Plbry., BRAMEm = 29 3(N/mb) & LET, m= 29 3(N/mf)
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29.3 = -16.1 + 26,1 X C/WL Y W/C = 568. 783 (%) W/C= 68.5(%)
LT KB (W) RNy x N W= 160 (kg/nt)
BT A 2 B (C)

C=W - WC X 100 = 150 5 58.5 X 100 = 256(kg/m’) C = 266(kg/nf)
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AR FAE (Ad)
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ilE% (ke nf)

YAvh LRI RIH®] A& |WEHO[MEHO | HEHOIEEHO | HEHQ A | ERAD | RIAIQ | RAirAI®

256 150, 823 429 369 062 2.82
KA R | B85 % | KAk ] % | MBS | 44,2 %




